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Options:
1. % 1
2.¥2
3.% 3

4, % 4



Question Number : 2 Question Id : 7856743747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Find the straight line [: ax + by + ¢ = 0.

[: ax+ by +c = O-LJ()’”(H"J;}'
(I)  [passes through (1, 1)
14
"d.l:-'b""'f ;-{l.. I\)'-I
(I) I crosses x-axis at (2, 0)

/U e x-axis 4(2,0)-11

Options:

Question Number : 3 Question Id : 7856743748 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



£ . x+8y
What 1s the value 0f7 —7
9x—4y

’ « AX+8y
[] F&J"" ¥ | -
-,), 2 J"ng_4y

I xy=18

M Y_,

Options :

4, % 4
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:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What is the first term of the Arithmetic progression?
S/ J:,L'Wmpmgrcssiond&

(I) ~ The sum of the first 6 terms of that progression 1s 78.

' ¥
_,,7.78;!,»‘&d;5562;;;£pr0gr0531{}1w!- |
(II)  The sum of the first 10 terms of the progression is 210,

-é-ZIUJ'ﬁ’J 22510 L progression 1.1

Options :

Question Number : 5 Question Id : 7856743750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What 1s the highest value of n such that 2" divides m?

_?Jj,‘;:“’h im* Zn.&;w:;kjc.u&.idﬁn.{l
(I) 40 divides m.
-,.T.L"f (ﬂ hfm “40.1
(II) 288 divides m.

<t/ fm 288.11

Options :

4.¥ 4

Question Number : 6 Question Id : 7856743751 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Whatis the area of the AABC ?

Jp# JKDABC k]

() AB+BC=17
(I) CA=5

Options :
1. % 1

2. % 2

Question Number : 7 Question Id : 7856743752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



How much will it cost to put a fence around a rectangular field?
S WL LS
(I)  The ratio of the length and breadth of the rectangular field 15 8 : 5.

8 50Ul syl

(II)  The cost of one meter of fence is Rs.100.

<0028 L g5 2411

Options :

4.¥ 4

Question Number : 8 Question Id : 7856743753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Is P, the father of Q?

- AkQ ‘P
(I) Q 1s a daughter of P.
< PQ]
(I) P is the mother-in-law of R.

< JWR* P

Options :

4. % 4

Question Number : 9 Question Id : 7856743754 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



If pgr >0 isg°r’p® <0 ?

pgr > 02¢°r°p8 < 0

() r<o0
M g=>0

Options :

1. % 1

Question Number : 10 Question Id : 7856743755 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the volume of a cylinder whose height 1s 16 cm?
Wl Rl Tilindor. i
- 16 cm{lEsipbnl f scylinder{]

(I)  The cylinder 1s made of iron.

- Iniz¥e/Cylinder -I

(I) The diameter of the base 1s 16 cm.

- 16 cmPudeyll

Options :

Question Number : 11 Question Id : 7856743756 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the adjacent figure, what 1s ZBOC ?

-_f:_l:'ﬁL-FLB 0C Jfsum§ /Ll

(=
(]

(I) ZBAC = 60°
(Il) OB=6cm

Options:

Question Number : 12 Question Id : 7856743757 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Ramu and Ravi start a business jomtly. What 1s Ramu'’s share out of an annual
profit of Rs.50000.

-;:_,50000 .A?UCCEL?;UL'KFIJ- ,'}'E...ffi,-; ,:‘,@}JK .{F.r’vu.r"nd:,u}!r’b
(I) Ravi’s investment 1s 23% more than Ramu’s investment.
-0k 725%c< JKA/U"‘!J LFJK L/dvu-l
(II) Ramu'’s mvestment 1s Rs.175000.

- 1750004 781,11

Options :

Question Number : 13 Question Id : 7856743758 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



How many girls are there in that class?

S AUy
(I) The number of boys in the class 15 72.

.l
|2 R
(I) 12 times number of girls m the class 1s equal to 7 times number of

boys in the class.

PRSP GO SN LA NN V|

Options :

Question Number : 14 Question Id : 7856743759 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What 1s the Median of the data contamning a set of observations?
| ks
S/ e i’
(I)  The Mean of the data 1s 78.

_4;;73 :Slbf_slﬁl,"-]
(II) The Mode of the data is 77.

2.1 Modeky_I1

Options :

Question Number : 15 Question Id : 7856743760 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What 1s the product of 5 positive real numbers which are m the Geometric
Progression?

- Geometric Progressions-£x e~ b S
(I) Sum of the 5 numbers 1s 386.
-.;.386;!,&-3*@",“!5 4l

(I) The third term is 42.

A2 et A1

Options :

Question Number : 16 Question Id : 7856743761 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What day of the week Mr.X birth day comes this year 20237

ﬁﬁd:ﬁfiﬁj’ﬁ.ﬁ'ﬂ}/ F2023 )0
(I) Last year hus birth day was on Wednesday.
-ﬁ(ﬁ;%ﬁjnﬁrgb’,ﬂﬁfﬁr-l
(II) Mr.X was born in the month of February.

g st LA X

Options :

Question Number : 17 Question Id : 7856743762 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Who is thetallest among 4, B, C'?

ebhdicorgf 2A, B, C
(I) B 1s the father of C.
-<8C * Bl
(I) A 1s the only son of C

LKA

Options :

1. % 1

Question Number : 18 Question Id : 7856743763 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Is Mr.X mtelligent?
<X

(I) All doctors are intelligents.

APE
ey el

(II) MrX 1s an engineer.

-ﬁLJ?:.?; ILIX s 1]

Options :

1. 8 1

Question Number : 19 Question Id : 7856743764 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What 1s the perimeter of AABC ?

- trifperimetersAABC

() AB+BC=14
(I)  AB.BC =48

Options :

Question Number : 20 Question Id : 7856743765 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Who 15 youngest among 4, B, C'?
£ Al
oy U?{Lgu’fﬁ, B

(I) B 1s a brother of C.

< JC Bl

(I) A 1s a daughter of B.

e $UB A

Options :
1. % 1
2. % 2

3. 3

4.9 4
Sub-Section Number : 2
Sub-Section Id : 785674416
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 7856743766 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

P - . -l : e #
:(.Ly"é.d.fﬁ.gi (J’A’JL—!JJ?)?J'H,—;{_SUZ}JL?}) Jr Ut 21-30 s

e = o : - . - # #
bl ,,;:ru::*:"d{%) m.i'_,;.;ffutj\,f”_i.@vb%.::.d.r’iu}ﬁu/ﬂ:

AEF : BIJ :: NQR :
(1) oOuVv
(2) OVU
(3) UVO
(4) VUO

Options:
1.9 1
2. % 2
3. % 3

4, % 4

Question Number : 22 Question Id : 7856743767 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

L - . "t : - F
:(.Ly"é.d.fﬁ.gi (J!MJ;...J'L?);‘;J‘/,.;J;:ZML..‘_,:) Jr Ut 21-30 s
e = o : - . - # #
bl ,,;:ru::*:"d{%) m.i'_,;.;ffutj\,f”_i.@vb%.::.d.r’iu}ﬁu/ﬂ:

APRIL : 64 : JULY -

(1) 248
2) 343
3) 363
4) 412

Question Number : 23 Question Id : 7856743768 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__,}bf_-,uw



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

P - . -l : e #
:(.Ly"é.d.fﬁ.gi (J’A’J&-JL?)?.‘JH{,JUZ}JL?}) Jr Ut 21-30 s

_é.Lgy’;ffuﬁdl.;f@.;—_,r_.}IJJJ-L@'QJ:.LJLLERJ,&-J
MANGO : QIPCO :: ORANGE :

(1) GIPCTE
(2) OIPCTE
(3) GIPCTQ
(4) OIPCTQ

Options :
1. % 1

2. % 2
3.3

4. % 4

Question Number : 24 Question Id : 7856743769 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__,}bf_-,uw



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

P - . -l : e #
:(.Ly"é.d.fﬁ.gi (J’A’JL—!JJ?)?J'H,—;{_SUZ}JL?}) Jr Ut 21-30 s

e = o : - . - # #
bl ,,;:ru::*:"d{%) m.i'_,;.;ffutj\,f”_i.@vb%.::.d.r’iu}ﬁu/ﬂ:

: HDGF :: FILM : ADGH
(1) LINK
(2) BALD
(3) NAME
(4) MILK

Options :
1. % 1
2. % 2

3.# 3

4. 4

Question Number : 25 Question Id : 7856743770 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving
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In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

L - . "t : - F
:(.Ly"é.d.fﬁ.gi (J’A’J&-JJJ?)?.‘JH,-,;JUZ}JL?}) Jr Ut 21-30 s
e = o : - . - # #
LW oyt S S5 s i L1005

LM : 1213 :: ;216323
(1) UKW
(2) URX
3) VW
4 VX
Options:
1.9 1
2. % 2
3. % 3
4. % 4

Question Number : 26 Question Id : 7856743771 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving

__,}bf_-,uw



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

P - . -l : e #
:(.Ly"é.d.fﬁ.gi (J’A’JL—!JJ?)?J'H,—;{_SUZ}JL?}) Jr Ut 21-30 s

e = o : - . - # #
bl ,,;:ru::*:"d{%) m.i'_,;.;ffutj\,f”_i.@vb%.::.d.r’iu}ﬁu/ﬂ:

GKXP : . FLTR ;: CRQX

1) CPTU
2) DQUV
3) DRVX
4) CQSZ

Options:
1. % 1

2.9 2
3. % 3

4. % 4

Question Number : 27 Question Id : 7856743772 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

P - . -l : e #
:(.Ly"é.d.fﬁ.gi (J’A’JL—!JJ?)?J'H,—;{_SUZ}JL?}) Jr Ut 21-30 s

e = o : - . - # #
bl ,,;:ru::*:"d{%) m.i'_,;.;ffutj\,f”_i.@vb%.::.d.r’iu}ﬁu/ﬂ:

2334.20 :: 547°5;

(1) 35
2y 27
3) 29
4) 30

Options:

1. % 1

Question Number : 28 Question Id : 7856743773 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

L - . "t : - F
:(.Ly"é.d.fﬁ.gi (J!MJ;...J'L?);‘;J‘/,.;J;:ZML..‘_,:) Jr Ut 21-30 s
e = o : - . - # #
bl ,,;:ru::*:"d{%) m.i'_,;.;ffutj\,f”_i.@vb%.::.d.r’iu}ﬁu/ﬂ:

14(2) : 30(3) : 330 (__ ) : 105(3)

1 2
2) 4
(3) 3
4) 3
Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 29 Question Id : 7856743774 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving
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In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

L - . "t : - F
:(.Ly"é.d.fﬁ.gi (J’A’J&-JJJ?)?.‘JH,-,;JUZ}JL?}) Jr Ut 21-30 s
e = o : - . - # #
LW oyt S S5 s i L1005

DRFRH: 4Q6@8::  :22024Q 26

(1) URQVEW
(2) VWX
(3) XQYQZ
4) VRXKZ

Options:
1. %1
2. % 2

3. 3

4.4 4

Question Number : 30 Question Id : 7856743775 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__,}bf_-,uw



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

P - - . -l i e #
:fi.y"é.d.fﬂ.{-.' (J’JL’JL-_JL?)?.J'H,—;UJJZML?;}) Jr Ut 21-30 s

P = e 2 “ - b # 4 ’
bl ﬂ;fuﬁd{;) m.i"_,.:..;f;rutj\,w)_i.@'&.::.d_!’iujﬁu/ﬂ:

ABCdef : DEFghi :: PQRstu

(1) XYZxyz
(2) YZAyza
(3) STUvwx
4) TUVtuy

Options:

Sub-Section Number : 3
Sub-Section Id : 785674417
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 31 Question Id : 7856743776 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

ey

Note : Inquestions numbered 31 to 35 pick the odd thing out

_Uff%&:ﬁéglﬁiifj:@1—35:.—£J!r Ly

¥ +x+1=0, x*+4x+4=0, x¥*+6x+9=0,
x*+8x+16=0, x*+12x+36=0,x>+ 14x +49=10
(1) x2*Extl=0

2) x*+4x+4=0

(3) x*+6x+9=0

4 x*4+8x+16=0

Options :

1.1

Question Number : 32 Question Id : 7856743777 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

e Uy

Note : Inquestions numbered 31 to 35 pick the odd thing out

_uf;L?’;:J:.Llﬁif.Jfﬁ:@1—35.;:£JL~' Ly



CROW., PIGEON, HEN, PARROT. KING FISHER

(1) CROW
(2) PIGEON
(3) HEN

(4) PARROT

Options :

Question Number : 33 Question Id : 7856743778 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

Note : Inquestions numbered 31 to 35 pick the odd thing out

_uf;Lf—&:J..".-L!ﬁf.f.,;;:@1—35:.—£J!r Ly



L2523, & 3,5, ¥ 5, T, 37, 1y 13, W5 13, 0205 17,19, 325

(1) 1,2.5

—
[ .}
p—
(-
L]
[ ]

5,.1,37
(4) 17.19,325

—
L]
p—
|

Options :

Question Number : 34 Question Id : 7856743779 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

Note : Inquestions numbered 31 to 35 pick the odd thing out

o f;Lf—”a:::.-L!ﬁf.f*'"':@1—35:«%’ 1L



(3.4.5).(9,40,41). (15, 112, 113), (11, 60, 61), (21, 220, 221), (13. 84. 85),

(11,61, 62)

(1) (15,112,113)
(2) (11,60, 61)
(3) (11.61.62)
(4) (21,220,221)

Options :

Question Number : 35 Question Id : 7856743780 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

Note : Inquestions numbered 31 to 35 pick the odd thing out

o f;Lf—”a:::.-L!ﬁf.f*'ﬂ':@1—35:«%’ Ly



Lake. Pond. Pool. Tank. Brook. Sump

(1) Lake
(2) Brook
(3) Pond
(4) Tank

Options:

Sub-Section Number : 4
Sub-Section Id : 785674418
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 36 Question Id : 7856743781 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

S0P ol st it LKL 3645 1



e pirg 7
- 33
10
i T—
(1) 3
(2) 2
11
() —
4) 4
Options :
1. % 1
2.9 2
3. % 3
4, % 4

Question Number : 37 Question Id : 7856743782 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

e Uy

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

s U S o it i it LKL 1 36-45 2



196. 16. 144. 36. . 64, 64, 100, 36, 144

1 72
2) 86
(3) 94
4) 100

Options :

Question Number : 38 Question Id : 7856743783 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

S0P ol st it LKL 3645 1



250,1663,125,100,83; B9

' ?’13
(1) 717
T31
{3y 135
T52
(3) 753
?61
(4) 76
Options :
1.1
2. % 2
3. % 3
4, % 4

Question Number : 39 Question Id : 7856743784 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

e Uy

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

s U S o it i it LKL 1 36-45 2



0. 6. 24. 60, 120. 210, . 504, 720

[a—

) 280
) 292

-2

336
4) 37

e T T e T
L]
S

-2

Options :

Question Number : 40 Question Id : 7856743785 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

s 0PN ol st i i LKL 23645 19



9.25,49,121, 169, , 361

(1) 289
(2) 194
(3) 285
(4) 296

Options :

Question Number : 41 Question Id : 7856743786 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

S0 ol st it LKL 23645 19



5 3 =2 %1 —9 25
TH T 17" 14

(1) -13

(2] —16
7
) -1

(4) -18

Options :

Question Number : 42 Question Id : 7856743787 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

e Uy

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

s U S o it i it LKL 1 36-45 2



2187, =729, 243, —-81, e e |

(1) 36
2) 27

3) —36
4) —27

Options :

Question Number : 43 Question Id : 7856743788 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

e Uy

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

U6 S oy i it LKL 1 236-45



6. 24, 60. 120, 210, , 504, 720

(1) 294
2) 316
3) 320
4) 336

Options :

Question Number : 44 Question Id : 7856743789 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

e Uy

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

s U S o it i it LKL 1 36-45 2



3 4 15 12 35 63 40

Patet gty gy ' 65”11
24
(1) =
31
(2) 32
E
(3) 43
56
(4) 57

Options :

Question Number : 45 Question Id : 7856743790 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

S0 ol st it LKL 23645 19



5,7, 1E,19.38, ;131,259 515

(1) 67
(2) 82
(3) 96
(4) 120

Options :

1.9 1

2. % 2

3. % 3

4, % 4

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

5
785674419
No

null

Question Id : 7856743791 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (46 to 48)
Problem Solving

(b) Data Analysis

ey

7§y - (b)



The graph below shows the exports of a metal by a company in the months
January to June (in thousand tons). Based on the information answer the
questions 46 to 48,

48046 ey an i 2ee (s Sexports i Bl Lo
elizl ey

120

110
110

100
100

a0

a0 a0

10
10

60
lanawary Febeuary March Aprd Iay June

Sub questions

Question Number : 46 Question Id : 7856743792 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(b) Data Analysis
:;Lf Ay - (b)



The percentage increase in the exports in the month of May over the month of
January 1s

oo ) Joludd frexports B (R B LR

Question Number : 47 Question Id : 7856743793 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

e Uy

(b) Data Analysis
:‘)-;Lfﬁ'?" T (b)



The percentage of decrease m exports in March compared to the February month
18

‘o & "
e el JEtexports LB AR B LG

(4 ®

Options :

Question Number : 48 Question Id : 7856743794 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(b) Data Analysis
,:fd:b’ i (b)



The average exports per month ( i thousand tons) in the given period 1s
LA 4 : i .
et e bl e s LIl exportshs

(1) 90
(2) 108
(3) 30

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Sub-Section Number : 6
Sub-Section Id : 785674420
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 7856743795 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (49 to 51)
Problem Solving

ey

(b) Data Analysis
7S - (b)



The budget allocation of a civic corporation in a year under 5 major heads A. B.

C.D and E are depicted m the Pie chart. Based on the data answer the questions
49 to 51.

JA, B, C;.L.x_j;u..‘;ﬂ:ﬁlﬁallocati{m:@J;;KJ;_:*'..QUC;T;;?SLJH{(
Gl 751049 el i L%L’Clr’/ﬁw A \_J':Jklr DulE-

F

*A? =B 60" «C 62" «D 72" «E 70

Sub questions

Question Number : 49 Question Id : 7856743796 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

E-—#";Wf

(b) Data Analysis
<7y - (b)



If the budget allocation under D 1s Rs.130 crores, what 1s the total budget of the
corporation (in crores of rupees) ?

-Jfr;‘,‘l”'_q.LJ/_Z?J‘?%%;{;K.;E.:;M}J;[SU;ULn:;f.DJr‘:‘E L,{..*rf-

[u—
R

1250
1000
900
4) 750

-2
p——

,_N,_.‘,_\,__\
L]
—

Options :

Question Number : 50 Question Id : 7856743797 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(b) Data Analysis
:‘/‘-;Lfﬁ'f' i (b)



Out of the total budget what 1s the percentage of the budget allocated to the heads
B and E together?

-;ﬁ:_%'ﬁ’p&i&f-ﬁ..ﬁi#ﬂt;;rx ExsByass 2

(1) 7

=

9

)

36—

9

3 2

3) 3t

9

(4) 1

34—

9

Options :

1.9 1
2. % 2
3. % 3
4. % 4

Question Number : 51 Question Id : 7856743798 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

e Uy

(b) Data Analysis
:‘/‘-;Lfﬁ'f' i (b)



e . B
Which head receives jh of the total budget?

1 B
-;l'_yiﬁ,.ﬂ?ﬁ»f-.lrfz,; ik

— —— —— ——
L LS | bt
2 o = W

Options :

Sub-Section Number : 7
Sub-Section Id : 785674421
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743799 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)
Problem Solving

e Uy

(b) Data Analysis
<Ay - (b)



In the Venn-diagram the sets U. A. B and C are defined as follows:

U
i/ “}\;"" % A
! / \ kY
|II D I'I G_"l E ﬁl
U= {x|risanatural numberand x <30} | \ s/ ™ )
. ' \‘\ / AV H k". ; /
A= {x|x €EUandx isodd ) H_F AR L
B={x|x € Uand x 1s even } \ )
C = {x|x € U and x is multiple of 3 } N o B

Based on this data answer the questions 52 to 55

_,_f-ﬂup Yokt i ICaU, A, Ber 2 Venn-diagram.{]
U= {xfr-couE Lix < 30

A= {x|x € Usxsu b

B = {x]|x € Unixsscs

C={x|x € UJ}’XJﬁr}‘EfQ

-ﬁmgiﬁiSSt‘SZ;Uir;uJ A ]
Sub questions

Question Number : 52 Question Id : 7856743800 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(b) Data Analysis
:‘)-;Lfﬂ?" i (b)



In the Venn diagram which are the null sets ?
23 'I "f u v [ = i ¥ " "rf:‘ ¢
-t snull setsgsVenn diagram& & s

(1)  Gonly

(2) Tonly

(3) GuJonly

(4) GUJUF only

Options :

Question Number : 53 Question Id : 7856743801 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(b) Data Analysis
,:fd:b’ i (b)



Which of the following sets have equal number of elements ?
el . kb
UE AP GOerd e A

(I) LH
2) D,H
(3) LE
4) EF

Options :

Question Number : 54 Question Id : 7856743802 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(b) Data Analysis
r:)’:;dﬁ'?" T (b)



If n(X) denotes the number of elements in the set X, then n(DUEUF) =

(D UE UF) = §lendd e deiXe n(X)/

Options :

Question Number : 55 Question Id : 7856743803 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(b) Data Analysis
:‘/‘gdﬁ'f i (b)



If n(X) denotes the number of elements in X, then n(U —(Auc )] =

=

n(U - (AU 0)) =t/ 6 prd s tX n(X) /

3) 10
(4) 15

Options :
1. % 1

2. 8% 2

3.3

4, % 4

Sub-Section Number : 8
Sub-Section Id : 785674422

Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743804 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)
Problem Solving

ey

(c) Coding and Decoding Problems

&U!r.ffrfdj;;l..ﬁ:f- (c)



The letters of English alphabet are coded as follows:
(1)  First 13 letters A, B, C. D, ... . M are to be coded respectively to M, L.
K. 7. .... A (inreverse order).
(1) Remaming 13 letters N, O, P. Q. ... . Z are to be coded respectively to
Z.Y,X, W, ....N (in reverse order ) .
(1) For decoding the reverse process has to be followed.

Based on this data answer the questions 56 to 60.

L s L H
(Lez?dDM, LK, J, .., A/A,B,C,D,.., M 13& ()
Z,Y,X,W,..N/N,0,P,Q,..,Zos 138 Gi)
bWy P2 LDecoding (i)

B2 L6056 Uy £k

Sub questions

Question Number : 56 Question Id : 7856743805 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(c) Coding and Decoding Problems

;U!fjjfdfu:lfﬁ:(- (c)



What 1s the code for MARKETING?

< WEMARKETING

(1) AMVCITEZG
(2) ANWDIUCZG
(3) AMUCITBYG
(4) ARXEISCVG

Options :

Question Number : 57 Question Id : 7856743806 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

e Uy

(c) Coding and Decoding Problems

&U!r.fjfdh:ljﬁ:(- (c)



What 15 the code for word CONSUMER ?
<42 LCONSUMERSS

(1) KZYVTSBE
(2) KYZUSAIV
(3) KXUZTBVI
(4) KUZXBVTE

Options :

Question Number : 58 Question Id : 7856743807 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(c) Coding and Decoding Problems

&U!r.ffrrd.’i;;ljﬁ:(- (c)



What 1s the code word for BUSINESS ?

<32 LBUSINESS

(1) MTWDAIXX
(2) LSVEZIVV
(3) LSUEZIUU
4) MTVDAIYY

Options :

Question Number : 59 Question Id : 7856743808 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(¢) Coding and Decoding Problems

:«U!fjj!r’djjﬂjj!(- (c)



What are the letters that remained unchanged (left mvariant) after the coding?

LaJl ) y!f.f.?:r;?u[}’_‘}f Py

Question Number : 60 Question Id : 7856743809 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(c) Coding and Decoding Problems

;U!r.ffrrdb,'ljﬁ:(- (c)



Which word 1s coded as THUMHE ?
# ~ o
W CTHUMHES B S

(1) TEASIF
(2) TFASIA
(3) TESAF]
(4) TESAFI

Options :

4.9 4

Sub-Section Number : 9
Sub-Section Id : 785674423
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 61 Question Id : 7856743810 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(c) Coding and Decoding Problems

&U!r.ffrfdj;;l..ﬁ:f- (c)



If VIRUS 1s coded as UHQTR then the code for MASK 1s

Kl IMASKIZ blcode 2 ZUHQTRSVIRUS /)

LZR]
LRZ]
LIRZ
4) LZIR

] —
p— e

,_N ,,_\_ ,-—«. ,._\
LTS
e’

Options :

Question Number : 62 Question Id : 7856743811 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(¢) Coding and Decoding Problems

::U!Fjj!rdj.iﬂjj!(- (c)



The PINK is coded as JQLO then BLUE is coded as
LUy BLUEIZ b3 JQLO/PINK/)

(1) XNUE
(2) XNEU
(3) XUNE
(4) XEUN

Options :

Question Number : 63 Question Id : 7856743812 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(¢) Coding and Decoding Problems

:«U!fjj!r’djjﬂjj!(- (c)



In a code language 1f TRAIN is coded as UQBHO. then PLACE 1s coded in that
language as

K3 PLACEIZ b3 UQBHOSTRAINI2 S f3f

4.4 4

Question Number : 64 Question Id : 7856743813 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(c) Coding and Decoding Problems

&U’f-fj}rdjjﬂjj.!(- (c)



REJECTION 1is coded as SGMIHZPWW then in the same code language the
word MECHANIC i1s coded as

£ HUMECHANIC 2ol b3/ SGMIHZPWWREJECTION/|
1

—_
p—

NGFLFTPK
NGPLFTPK
NGFKFTPK
4) NGPTPKIL

-2
e

L)
i

Options :

Question Number : 65 Question Id : 7856743814 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

e Uy

(c) Coding and Decoding Problems

;U!f.fjfdfwljﬁ:(- (c)



If SWEDEN 1s coded as 123435 and GLAND 1s coded as 67854, then the code
for ENGLAND 15

WUYENGLANDIZ bU3/67854/GLAND 2 bl/3/123435/SWEDEN/)

Kbl

(1) 3567854
(2) 1267854
3) 3267854
4) 1367854

Options :

Sub-Section Number : 10
Sub-Section Id : 785674424
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 7856743815 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey



(d) Date, Time and Arrangement Problems

elivess G- (d)
Which day falls on 18™ Au gust 20227

KT 202201 18"

) Thursday g
(2) Tuesday \ﬁ'
3) Wednesday A
4) Friday >

Options:

1.41

2. % 2

3.% 3

4, % 4

Question Number : 67 Question Id : 7856743816 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(d) Date, Time and Arrangement Problems

elivyess G- (d)



What 1s the angle between the hour hand and minute hand m the wall clock when
the time shown 1n the clock 15 8.25 am?

- # d - | . # F e
Une»8.25 f.fo:.uufu . ',-’!f_,ir-..li.t'll'%d/’uymf.ﬂjslgu:u}{-?.:l:.,:ﬂ}w.-u

Options :

4. % 4

Question Number : 68 Question Id : 7856743817 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(d) Date, Time and Arrangement Problems

elivess G- (d)



The time between 9 O'clock and 10 O’clock at which both hands of a clock are
together 1s

Sl ALE KIS ATE1004E9 0

;
49 Emm. pastl‘} 0 clock
£90 ox 49—
2 ,
48 Hmin.past 90 clock
P 2
£90 < 48 ™
(3) 50 min.past 9 0clock
£90 250
(4) 45min.ast 9 0 clock
£90 245

Options :

Question Number : 69 Question Id : 7856743818 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

e Uy

(d) Date. Time and Arrangement Problems

elivyess G- (d)



If X 1s mother of Y. Y 1s father of Z and P 1s a sister of Z. then P 1s related to X as

e BN EXP S X Pl ML Y e pY * XS

1) Grand mother

)

) Grand daughter
) Niece

) Matemal aunt

(
(
(2
(4

Options :

Question Number : 70 Question Id : 7856743819 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

e Uy

(d) Date. Time and Arrangement Problems

elivyEss G- (d)



Rita comes to Railway station at 10.20 am and finds that she 1s 40 minutes early.
But the tramn 1s runmng 20 minutes late. What is the right schedule time of
arrival of the train?
] ' Jﬂ i 1 e# e ( i ,
2020 o St - T80 w e $ /0y e (L sE10.20 0 It
-ﬁ;_@fcjab/éd'i!&:f-;.ﬁ;

(1) 10.50 am
(2) 1040 am
(3) 10.35am
(4) 10.30 am

Options :

1. % 1

2.9% 2

3. % 3

4. % 4

Question Number : 71 Question Id : 7856743820 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__,}bf_-,uw

(d) Date, Time and Arrangement Problems

elivess G- (d)



A person starts from the point P at 9.20 am and travelling with a speed of 45
kmph, he reaches the point Q at 10.40 am. Had he travelled with a speed of 75
kmph instead of 45 kmph, the time of arrival at the point Q 1s

(1040 425Que § 51 5 53 1245 0B 2 Pl L1729 20

-;.y/:ﬁf%f’;.ujf,;()r'@u ;,Ji.i;d:lfﬁ}fﬁﬁw !_?ﬁ;
(1) 9.56 am
(2) 10.12 am
(3) 10.08 am
(4) 10.00 am

Options :
1. % 1

2. % 2

3.3

4. % 4

Question Number : 72 Question Id : 7856743821 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__,}bf_-,uw

(d) Date, Time and Arrangement Problems

eliveds G- (d)



Six members of a family A. B, C. D. E and F are sitting around a table all facing
the centre of the table such that

(1) A 1s directly opposite of B and to the immediate right of C

(1) E1snotnextto Aor F

(111) B 1s to the immediate left of F and immediate right of E;

(iv) D 15 between A and B:

What the order of their seating arrangement starting from A to the right?

b S A& p A, B, C, D, EA 6L it L]
_ﬁ.rx,;@u”gﬁgit‘;;uq,%.ﬂ@ﬂgiB ‘A (1)
b WEF SACE (i)
-;E.:J’Li.ﬂ)iEﬂUﬂ@ﬂiFJﬁL (111)

e nLBuA D (iv)

ABCDEF
ACBFED
ACTDEB
ACEBED

— —
[ S} e

—
L]
e . T

Options:
1. % 1
2. % 2

3. 3

4.4 4

Question Number : 73 Question Id : 7856743822 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

ey

(d) Date, Time and Arrangement Problems

elivess G- (d)

\ b
Let a, b be any two real numbers. Ifa *b = a® + b,aAb = a—b, then

(3 4) « (442) = a

(3+4)+ (4A2) =—a+b=a’+b*adb =

i - i
b-u.'f-"ﬁ'd"y wba i/ S/

a
a+

(1) 508
3
2) 307
B
(3) 208
3
(4) 305
3
Options :
1.9 1
2. % 2
3. % 3
4, % 4

Question Number : 74 Question Id : 7856743823 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

ey

(d) Date, Time and Arrangement Problems

elivess G- (d)
If @ and ® are defined by p ® q = \/ﬁ+% andp () q= Jﬁ—%
V

pOq= Jpq—fup@q /g + qen@w

(1) 30
2 1
30
3) 30
Ul
V30
Options :
1.9 1
2. % 2
3.% 3
4. % 4

Question Number : 75 Question Id : 7856743824 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey



(d) Date, Time and Arrangement Problems

elivess G- (d)

For positive integers m,n. defmem @ n=2m+ 3n+ 1 and

mOn=mnthen(3Q2)O(U®1) =

cmOn=mn‘m®n=2m+3n+157{ fm,n * int cgersed S|

3®2)0#1) =

1) 1356
2) 2028
3) 1014
4) 1756

Options:

Mathematical Ability

SectionId: 78567456
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 75

Number of Questions to be attempted : 75



Section Marks : 75

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 785674425
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 76 Question Id : 7856743825 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability

Ifa* =b" = ctand abe = 1. then— =

x+y

Xy 7 1 [
—— :,}'ﬂx = bY = ctaabe = 171
Xty



Question Number : 77 Question Id : 7856743826 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability

Al 1
If 275 =958 =37 -then 2x-t- 3y =

275 a8 —3¥ Py 4 8y = ]

—
e

30

g
e

36

— e e—
3 r [
.
>

Options:

Question Number : 78 Question Id : 7856743827 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability

CRLL !
Ifa:b=2:3 andb:c=4:5, then(a+b):(b+c¢)=

(a+b):(b+c)=—rab=2:34b:c=4: 5/]

Options :
1.9 1
2. % 2

3. 3

Question Number : 79 Question Id : 7856743828 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability

Al 1



A vessel contains 100 litres of mixture of two liquids A and B in the ratio
3 : 1. How many litres of the liquid B is to be added to the vessel to make the
ratioof A:Bas1:3?

S vessel S1e 80 JB-:::.S 1 UBAA eV 2ol 2100 vessel

L3 0A B AL

b2 —
e e

= L]
p—
—
-
L]

Options:

Question Number : 80 Question Id : 7856743829 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability



If x = 3v/3 + V/26. then x* +xi2:
x=3V3+26 & x2+%2:f|

(1) 106
2) 53
(3) 108

Question Number : 81 Question Id : 7856743830 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



J9+2JE—4\F—4\/§ =

(1) V3++42-2
2) V3-v2-2
() V3++v2+2
@ V3-V2+2

Options:
1.9 1
2. % 2
3.% 3

4, % 4

Question Number : 82 Question Id : 7856743831 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability



The remainder when 22 is divided by 7 is

" 1) . . #
Ll < 742°% ¢ remainder/1.3t:

Question Number : 83 Question Id : 7856743832 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability
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The number of all 4-digit numbers divisible by either 12 or 15 1s
AL’ o 15012201ty s

1) 1350
2) 1300
3) 1250
4) 1200

Question Number : 84 Question Id : 7856743833 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. ArithmeticalAbility

RS



If the sum of two positive mtegers, each greater than 37 1 296 and if their
GCD 15 37, then their difference 1s

-;}J,j@/ufL-JI;;‘:.37&}@'1:@.296”@?;37 ‘;:"-'ﬁlltcgcrs:éufl

(1) 111
@) 8l
3) 74
4) 64

Options :

Question Number : 85 Question Id : 7856743834 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability

Al 1



The smallest number to be subtracted from 3000 so that the resulting number
1s divisible by 7, 11, and 13 15

et SE 21311 4T ¢ LTy gl bl 2 300023f 2o

(1) 998
@) 975
(3) 963
(4) 875

Options :

Question Number : 86 Question Id : 7856743835 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability

Al 1



D g T o m—
ta 4 2qip
g
2151
() —
1355
2) 2064
7 1355
3) 1848
925
516
> i
) 305
Options :
1.9 1
2. % 2
3. % 3
4, % 4

Question Number : 87 Question Id : 7856743836 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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Options :

1. 1

Question Number : 88 Question Id : 7856743837 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



. 23 14 31 43
Ascending orderof a=—,b=—,c=—andd =—
a 25 15 32 45

J‘U 1 'Lul.:...h._.y'|

=t e S ps g2
25 15 45

(1) «¢db,a
2) b,adc
(3) ab,d,c
4) cadb

Options :

Question Number : 89 Question Id : 7856743838 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



The largest among the following rational numbers 13

e bstsuly e oo iduitational f

8 5 9 7
13121115
5
(1) —
12
5 S
5 15
8
(3) —
13
(4) i
& |
Options
1. 8 1
2. % 2
3.# 3
4. 4

Question Number : 90 Question Id : 7856743839 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability

Al 1



In a fraction, if the numerator 1s increased by 20% and the denominator 1s
decreased by 20%., then the percentage by which the fraction increased 1s

“ [~ y . ’ # /
JEb\sJ ¢ £20% fdenominator szl £20% fnumerator /12 /L]

e b Ui e P e S ad

[—
R

24
30
18
450

,-—~. ,_\ ,-—«. ,_H
L] | ]
e e

Options :

Question Number : 91 Question Id : 7856743840 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



The present population of a city 1s 1452000. It is increased by 10% each year
in the last 2 years and by 20% in the last third year. Then the increase in
population of the city during the last three years was

ST 27 et 3oasd 10% Jo i1 1452000 Gz £
st ST LR N3 2T e bon S20% e &

(1) 380000
(2) 412000
(3) 424000
(4) 452000

Options :
1. % 1

2. % 2

Question Number : 92 Question Id : 7856743841 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability

Al 1



A real estate agent sold two properties A and B each for Rs.391 lakhs. On the
first deal A he makes a profit if 15% and on the other B a loss of 15%. What
is the final outcome of this transaction?

u‘.';é;}#__;-.;.t'/ =3930 81391 /B sIA UsixlbUsssagenttreal estate ]

_,.f:-t'ﬁ.lfr,.f::"d/:' e _c bk’ Yo4B ;Lgi;m;,tmfbbw #£15%FA

() Profit of 5% Cf K5%
Loss of 5% 5%
) Tossof225%  Aa2.25%

W) profitef225%  F¥2.25%

Options :
1. % 1

2. % 2

3.3

4. % 4

Question Number : 93 Question Id : 7856743842 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability
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When the prices of onions were reduced by 20%, a person could buy 10 kgs
more for Rs.1000. What was the original price of onions per kg?(in rupees)

§e 3P\ et LU 1000510 F (e (20% LU 6/

g
-dﬁk‘l’f
)y 25
(2) 24
@3 23
4) 22
Options :
1.9 1
2. % 2
3.% 3
4, % 4

Question Number : 94 Question Id : 7856743843 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L. Arithmetical Ability

Al 1



Two persons P and Q started a business with mvestments in the ratio 4 : 5
respectively. After 10 months. Q left the business. After 5 more months P
left the business and R joined it by mvesting Rs.64000 more than P’s
mvestment. If at the end of 20 months. the respective ratio between the profit
share of P fo that of Q and R together is 2 : 3. then the investment of P and Q
together ( in Rupees ) 1s

Pocttodia AskQu LU 10t bt 4 - SEK A A KLIQP
S SP2 6400068 (P BB AR setio e As Kl S
ZQ P .,:.;Jﬂ : 3R € QP e gz 0y 20)1-5.3@;;

-’/F’]’”'j«“f Veros

128000
136000
144000
164000

= LTS 2 —_
e o e e

Options :
1. % 1

2. % 2

3.3

4. % 4

Question Number : 95 Question Id : 7856743844 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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P. Q. R started a business with investments in the ratio 5 : 4 : 6. After 6
months P added 20% more than the initial nvestment and at the same time R
withdrew half of the initial mvestment. If the profit share of Q 1s Rs.11400,
then the profit at the end of the year (in rupees) 1s

*L*(j n'tu{ 70 P#’r‘_.u!.f"’() J?r.../r{,J;U’JJ’“J fﬁ 4: 63.&';?_{@ QR

PN ALY o L R GOSN IR S5 b ki
KBl L ein 1 1400

39150
39250
39400
4) 39900

[ e
pa—— e

,._.\,,_\,_.,,,_N
L
p—

Options :
1. % 1
2. % 2

3.# 3

4.¥ 4

Question Number : 96 Question Id : 7856743845 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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Two pipes A and B independently can fill a cistern in 6 hours and 8 hours
respectively. If both A and B are opened together, thenthe time 1t takes to fill
the cistern completelyis

A LA IS 1L A AR w65 cistern Ly 5 BAA L

Kb L Auydcisterncr b WJF
1‘? 5 1 "
() =2 4;1101115
(2) 4% hours
14

(3) 'S 3; hours

(4) Z 3% hours

Options :

Question Number : 97 Question Id : 7856743846 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



Pipes A and B can fill a tank in 20 min. and 30 min. respectively. A drain
pipe C can empty the full tank in 15 min.  Pipes A. B and C are opened
alternatively each for 1 minute in that order. The time (in minutes) taken to
fill the tank 1s

w15 C AMLS S 7- st A Jer30 mpte20 B LB AL
JL:}.H;&;J#;J)L;VVQ;E)AHE..{E{C AB ‘A ?ﬁg-g.tffdb:rff?u’

w e *
K Knzi »f‘_..rf.r_./“”

(1) 105
) 125
3) 167
4) 187

Options :

1. 8 1

Question Number : 98 Question Id : 7856743847 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



Two trains A and B start from a station P at 8 am and 10 am and trave] at
speeds of 50 kmph and 70 kmph respectively. After how many kilo meters
from P will they meet ?

P ot F e a8 2570 2550 G E 10 4E8 < 1LBAA UK
_L,"?'JL Uﬁuﬁu’kﬁfj):ﬁ%!gg&-

1) 350
2) 360
3) 380
4) 400

Options :

1.41

Question Number : 99 Question Id : 7856743848 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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A boat can cover 54 km in still water in 6 hours. It can cover 210 km
upstream and the same distance in down stream in a total of 48 hours. Then
the difference of times taken by the boat to cover 72 km upstream and to cover
63 km down stream (in hours) 1s

e (LS Lo e e e 18210 4 LS L Lok 2 K54 2P 6 24
e L LESE ST F T JSE T f s Sir P 48 i

-ﬁ.fﬁ)‘ﬁgp"}:!{fﬁiiaj_.xfiigig)f;fj'fjﬁb'a;

,_.
e
o
Ty

3.0
3.6
4) 43

-2
Q-

F i T s T s T sl
L]
S

Options :

1. 8 1

Question Number : 100 Question Id : 7856743849 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



Three workers A. B and C can together complete a work in 10 days. After
working together for 4 days A leaves and B and C complete the work in 10
more days. If A works alone. how many days will he take to complete the
work?

(KA LSS Sush S LUI10 LSS B Ay S
I usi e L SAWIA S\ g2 Y S0 6510 B et

-gf_.)/'.d{ Urj'_'

Options :
1. % 1

2. % 2

3.3

4. % 4

Question Number : 101 Question Id : 7856743850 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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A certamn number of women can complete a piece of work m 70 days. If there
werel2 women more, the work could be fimished in 15 days less. Then the
number of women originally there 1s

Lo Ui S LUt N 2SS i T0 KL

-~ ;I-' i p
BV ATA VR VT NN (N

2) 36
3) 44
4) 48

Options :

Question Number : 102 Question Id : 7856743851 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



A circular park 1s of 60 m in diameter. A three meter wide walking track 1
prepared around and outside its perimeter. What 1s the area of the track
(in sq. m.)

St IAL 1Ky 3 Lie 60 diameter Kcircular park

Kl 3 Ktrack

(1) 180m
(2) 188m
(3) 189m
(4)  20Im

Options :

Question Number : 103 Question Id : 7856743852 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. ArithmeticalAbility



The length of one diagonal of a thombus 1s 80 cm and its side 1s 41 cm. What
1s the Iength (in cm) of the other diagonal ?

PLe . = / < - e
" dLJ;,( diagonal £seA1541 2/ L1 80 emdd {diagonal Lrhombus L

| )
N
[ )
=

—— — ——
= L]
e
[}
-,

Question Number : 104 Question Id : 7856743853 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability



A rectangular sheet of metal of dimensions of 12m x 6 m is rolled to form a
cylinder with larger side as its base. The volume of the cylinder in cu.m. is

Kaftoum AU e el (2. L8 ik J¥A12mx 6 m

(1) 256
2) 216
i
(3) 118
m
4) 98
m
Options :
1.8 1
2.9 2
3. % 3
4. % 4

Question Number : 105 Question Id : 7856743854 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



If the surface area of a sphere is 5544 cm’. Then the volume of the sphere in
cubic centimetres 1s (take 1= 22/7)

(1 = 22/7)Klf Jicu.cm Aésphereyicroe 5544.,?;5"5 ¥sphere {1/

(1) 38887
(2) 38708
(3) 37808
(4) 38808

Options :

1. % 1

2. % 2

3.% 3

4. ¥ 4

Question Number : 106 Question Id : 7856743855 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. ArithmeticalAbility



A room has a square base and 1s of height 4 meters. If the area of the four
walls 15 128 sq. m.. then the number of square tiles of side one meter required
to cover the floor 13

Ao L9128 sq. m ,E'JKusxlgju';Jlgfig.uf}fﬁl JUeUIcisquare Fy8(

£ . R : 5
Al L) J‘(J 3 Ssquare tiles

(1) 128
2) 116
3) 96
(4) 64

4.4 4

Question Number : 107 Question Id : 7856743856 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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A tent in the shape of a cone 1s to be erected having a base of 154 sq.m and a
height of 24 m.The cost of the canvas required at the rate of Rs.1000 per sq.m.
to make the tent (in rupees) is

defifcanvas <24 m dyjurmldf.f?lﬂ sq.m & L2 ttent ‘Veone k]

_(Jﬁy’ufu.ﬁu):ﬁlur’tcnt}":e,;.i, }'JI 000 per sq.m

1) 550000
2) 500000
3) 480000
4) 450000

Options :

Question Number : 108 Question Id : 7856743857 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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A solid metal sphere of 12 cm diameter 1s melted and cast mto a cylindrical
wire of diameter 4 mm. Then the length of the wire (in meters) 1s

4 mm cylindrical {f/uetble§H 512 em 2/sphere L A L]

LSSl et g p

1) 70

3) 76
4 78

Options :

Question Number : 109 Question Id : 7856743858 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability
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Let A and B denote the followmg bmary numbers.
A=10011011, and B = 111011,

Then the decimal equivalent of A+ B =

Vdecimal equivalent¥A+B = — A=10011011,,B = 111011,
K

(1) 216
Q) 215
3) 214
4) 210

Options:

Question Number : 110 Question Id : 7856743859 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability



If245 =k (mod 13) . thenk =

k=245 = k (mod 13)/]

—
- |

11
13

- LS [ ]
pa— R

Options :

Sub-Section Number : 2
Sub-Section Id : 785674426
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 111 Question Id : 7856743860 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IT. Algebraic and Geometrical Ability
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If a set has 7 elements. then the number of subsets of A with atleast 2
elements 1s

.« . I IR .. #
e dndl-Lelementsf < 214 SsubsetsC AT welements 7 e L1

(1) o4
2) 78
(3) 99
4) 120

Question Number : 112 Question Id : 7856743861 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I1. Algebraic and Geometrical Ability
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Let A and B be any two sets with m and » elements. If A has 192 more
subsets. than B. then m +n=

# . L Fad #
m+n=Jynarii192EA) LuxBAALY Uil elements “nsm/

4. 4

Question Number : 113 Question Id : 7856743862 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I1. Algebraic and Geometrical Ability
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If a and B are the zeros of the quadratic polynomial

x> — 7x + 12, then (o + B?)(a — B) =

(@ +B*)(a—B) ="x* - Tx + 12

[
e
[

- |

36
49
4) 125

[ )
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e

Options :

Question Number : 114 Question Id : 7856743863 Question Type : MCQ Option Shuffling : No
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If x ohe 5, thenx* +i=

X X 4

1 #
x——:5,_}x4+—4:)|
X X

Options :
1.9 1
2. % 2
3. % 3

4, % 4
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If the polynomial 2x> + 3% + ax + b when divided by (x — 2) and
(x 4 2) leaves the remainders 2 and -2 respectively, then (a,b) =

by ¥ (x+2) ‘(x—2)/2x* + 3x* + ax + b polynomial L/

(a.b) --J;;.L‘ﬁ—ﬁ;slg.:ﬁﬂljg'.;

(1 {102
2) (12,7)
3)  (-7.-12)
4) (-12.-7)

Options :

1. % 1

2. % 2

3.3

4, % 4
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If the remainders of the polynomial f(x) when divided by (x — 1) and

(x—2) are 2 and 3 respectively. then the remainder when f(x) is divided by
(x—-1)(x—2)1s

#2 (x—2)s(x — 1:),;;5_3%3” “A-"'J!f_,qf(x) * remaindersgpolynomial L]

Ln(x = 1) (x — 2)7blo/ = NE(x) remainder—- itz A3

(1) x+2
2) 2x4+1
@) x-1
4 x+1
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A rational number 1s such that when we multiply the numerator by 2 and
added 2 to the denomunator it becomes 3 moreover. if we add 9 to the

: . : 3 .
numerator and multiply the denominator by 3 it becomes . Then that rational
number 13

H € i S al 2t b 7 F at i
tox3 0zl S5 2 /denominator sz se fe2 SIS, §-u/Lu sarational L
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-ﬂi_ﬁ?}’q nY e <3 ddenominator .yl / &9 Jinumerator r‘T/' e
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</ ¢+ €S urational

n 9
8
2) 27
16
(3) 45
24
4) 36
17
Options :
1. % 1
2.9¥ 2
3. % 3
4. % 4
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A sum of Rs.900 is distributed among 3 persons. P. Q. R such that Q gets
Rs.45 more than R and P gets Rs.30 less than R. Then the amount P gets, m
rupees. 1
RIPsiiic 145« RIQ ST ol i 47018900 0% P, Q, R
A% - -
_QL‘:;LEJ/:(P..FL,[}’if%:ﬁU;

(L) 3l3
(2) 295
(3) 265
(4) 245
Options:
1.8 1
2. % 2
3.4 3
4. % 4
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If the roots of x2 + 6x — 27 = 0 are o and B, then o+ [33 =

= e B 2P 6x= 27 =00
1) -712
2) =700
3) 702
4) 702
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The sum of first 10 terms in an arithmetic progression 1s 20 and the sum of
2 : th : A
first 20 terms 1s 10, then the 8" term in that progression is

<10 2 504620 e 20 6010 %uﬁ‘aritlmwtic progression|

Kl ok 78 progressione
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If the sum of an mfinite Geometric Progression 1s 23 and the sum of the
squares of its terms 1s 69. then the common ratio s

g b - g ) x s
-;.69 A psquares Z.rxuftf,-l::-ZB 28 8¢ ) Geometric Progression J I

=

Sulferb s
R’ gd T

(1) 15

13

(2) 10

13

(3) 23

26

@ 25
26
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2T 51T 5T
i, 2 w 2 —
sin (—3 ) + cos (_6 ) tan (—4 )

(1) 1

2)

(3)

Lo G T

4) -

Options :

4. % 4
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cotd ¥ anl =2 = vosld =

(1)

=

2)

=

1
V3
1
7
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(4) V3

2
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A+B+C=m=tanA+tanB +tanC =

(1y 1

(2) tanA tanB+tanBtanC+4 tanCtanA
(3) tan (A+B+0)

(4) tanAtanB tanC

Options:
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k2+1
secd + tanf =k = kzl =

(1) tan®
(2) cot®
(3) cosecB

(4) sect

Options:

1. % 1
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From a distance of 60 m on the level ground. the angle of elevation of the top
of a building is 45" and the angle of elevation of the top of a flagstaff which 1s
situated on the top of the building 1s 60", then the length of the flagstaff, in
meters. 1s

.g’!,u:;. 45" dﬁ,ab‘;iﬂd@d’f iir.{‘l;.ﬁlif.u’}f 60 :.i/;,{i';v'ﬂ.{ |

TR dw’ﬂagsmﬁl}g_ﬁ{}n :?".Jﬂ!’.a;,ﬂ?E-J:}iz.j;‘l:ﬁdﬂ:d;fuz.ﬂﬂgﬁtﬂff

Y
(1) 120
(2)  60(v3+1)
(3) 180

@) 60(V3-1)

Options:
1. % 1
2. % 2

3. 3

4.4 4
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Ina triangle ABC. AB=5cm. BC=6cmand CA=7cm, then the length of
the median AD. 1n cm. 18

~

&HdAD median <*CA = 74BC = 6 * AB = 5 em#ABC triangle{]
-3;'}’!1’/ S L:{

1) 7

@ 27
3) 3v7
@ 47
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Ina triangle ABC, AB =6 cm. BC =7 cm and AC =11 cm. If AD 1s the
altitude from A to the side BC, then the length of BD. n cm. 15

BC¥l-< Azaltitude AD/IAC=11‘BC=7‘AB= 6 ~ABC ,mefl
S g R BD I AL

(1) 3
(2) 18
3) 4
@ 22

Options :

1. % 1

2.9 2

3. % 3

4, % 4
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If the lengths of the diagonals of a rhombus are 48cm and 14cm, then the
perimeter of the thombus. in cm, 15

- » g 'dl Iy v i
ViU A6 perimeterdthombus—susi 4831/ diagonalsZrhombusL|

-U¥
(1) 23
(2) 26
(3) 100
(4) 104
Options :
1.8 1
2. % 2
3.¥3
4. % 4
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If the lengths of the two parallel sides of a trapezium are 18 ¢cm and 12 ¢cm and
i i 7 : i . :
its area 15 105 ¢cm”, then the distance between the parallel sides, i cm, 13

2 = % | Uk omicm 3
hsely 105 em” J/1CUx12 cmall8 em S IGUG G2t

R R e S
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If the radiu of two circles are 6 cm and 18 cm and the distance between their

centres 15 9 cm. then the number of common tangents that can be drawn to the
two circles 1s

Ltangents fbuisx9 cm bl L inl 8 cmust6 cm .F;E’g_,{/uj!
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A chord of length 8 cm of a circle subtends an angle 30° at a point on the

circumference of the circle. Then the length of the diameter of the circle. in
cim, 18

£y b/»-*ur! A3 .,_;J;EF..{IJ fZ.,Jpwf.J@//.{!ﬁc‘-S (:lnﬁgigfchnrdiuﬁ}.ﬁ
kg p e
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IfA(5,2);B(6,—15); C(0,0) are the vertices of A ABC, then A ABC1s

*A ABC syl s Lals [IA(5,2); B(6,—15); C(0,0)./

[a—
—

right angled

2
p—

equilateral

150sceles

- o
P

right angled isosceles

Options :
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What is the ratio in which the y-axis divides the line segment joining the
poimnts A(12. -3) and B(3. 6) ?

JA(12,-3) »BG, 6JLGJ£§,rf£”“ Sline segment y-axisyiy? e s

- Lfréj
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The ratio n which y-axis divides the line joming the points
A(-4.5)and B(3.-2) 1

-ci-t“,fi;j” ¢A(-4, 5).4B(3, )56 line joining’ y-axis (& e

(1) 34
2) 4:3
B) 5
@y 2:5

2
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The equation of the line passing through the poimnts A(2. 1) and B(4. 5) 1
e 8T < AQ, 1B, 5)6 22 bk

(1) y=2x-3
) y=4x+5
B) y=2x+1
4) y=2x+3
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The sum of x and y intercepts of the line 7x + 4y = 56 13

3 I fTx + 4y = 56208y mX

Options :
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The equation of the straight line which is inclined at an angle of 120° to the
positive X-axis and makes y-intercept of 7 units 1§

-« kT y—intcrccpt,»:lX—axis:é,rsiq_,g},:}r;.,sl}.ﬁ.ﬁé.;l20“;2!5"*"!,55:,!;@

1) V3y+x+7=0
(2) y+V3x-7=0
B) y—=x¢7=0
@) —V3y+x4+7=0

Options :

Question Number : 139 Question Id : 7856743888 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
II. Algebraic and Geometrical Ability

=GP b A



[f the line y = mx + c is the perpendicular bisector of the line segment
joining the points A(4,—7) and B(-2,1), then ?=

-fxg% =iny = mx + /it eiA(4 =7)#B(=2,1)
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If the equation of line joining (2. 1) and (-4, -5) 15 ax + by 4+ ¢ = 0, then
a+b=

Kafa+b =Tnax+by+c=0°Q, D4, -5)2keii/)

(1) -2
)
(3) 0

Options :

1. 8 1

Sub-Section Number : 3
Sub-Section Id : 785674427
Question Shuffling Allowed : Yes

Is Section Default? : null
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The mean of the following 50 observations 1s
.257...9

sl 3,8, 7,99 bl e ls2e50) i

(1) 64
(2) 56
3) 50
4) 48
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The Mean of 6 observations 1s 40. If one observation 1s excluded. then the
mean of the remaining 5 observations becomes 39.the excluded observation is

18- 039 L2 balbel4leS JLL;&JJQ[ME’”-{’IFL?‘q-U eI LY
Sfedfued e

(1) 25
(2) 35
(3) 45
(4) 40
Options :
1.8 1
2. % 2
3.¥3
4. % 4

Question Number : 143 Question Id : 7856743892 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ITI. Statistical Ability

S auel ‘e b ITT



The arithmetic mean of 24. 4. 12. 8. 36. 48. 20, 16. 28. 32. 40 and k 1s 26.
Thenk =

k=4x24,4,12, 8, 36,48, 20, 16, 28, 32, 40 > bsi{]

]
.
N

— — —
¥ [
e
[
[
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Let A ={a,b,a+b,a—4b,ab,2b}. Ifb > 6 and the mean of the set is
b + 3. then the median 15

tab + 3 ober b > 6/IA ={aba+b,a—4b,ab,2b}/

-?,-ey}- Uw?u’l.._}';.

(1) 2b+3
2) b+3
3) b+6
4 b+9

Options:
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The median of a data contains 33 observations 1s 71. If another 4 observations
08. 89. 63, 36 are included in the data the median of this new data 1s

Sod SJE98, 89, 63, 362ialds )1 e tn] o § geife33 2, beskiv

-f}f_b(:: bskiy

1) 74
2) Tl
3) 69
4) 65

Options :

Question Number : 146 Question Id : 7856743895 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
I1I. Statistical Ability

S p b 1T



Four entries are added fo the data 5, 28, 15, 10, 15, 8, 24. If there 1s no change
in the arithmetic mean and median but its mode 1s increased by 1. then the
four entries (quantities) that are added to the original data are

Lot b Soa Lo SIS AL L5, 28, 15, 10, 15, 8, 24 2eliid

#| /"’ i + " i H 71 / )
2/ urguggugiaJL"iﬁ:Ang4u.,.~_§Jx.:LalK |2k m{}dc.ﬁ_&ﬁutf L;L P J,f

() 10,12,12,12
(2) 11,14.14,14
3) 12,16.16,16
4 13,17.17,17

Options :
1. % 1

2.1 2

3.3

4, % 4
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The mode of the following frequency distribution 1s nearly

-ty smodestrequency distributiony}ie~

Famuly size -8 | 5.8 | 5.7 | 9.8 |50

Number of families

(1) 348
(2} 328
(3 312
4) 296

Options :

1. % 1

2.9 2

3. % 3

4, % 4
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If a card is selected from a deck of 52 cards. then the probability of it being a
red faced card 1s

LiwPuLikred faced  Lei2S WKLo L3LL 3852

= U"_‘{EJF’_H_, Ugf‘ |

—

Options :
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Two dice are thrown once, what 1s the probability of getting a total of 10 on
the faces is

Sttt 47 L10 e Mg g1 £ L dicess

(1) 10
36
@ 7
36
3 %
36
@ 3
36
Options :
1. % 1
2. % 2
3.% 3
4. ¥ 4
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A bag contams 4 white and 6 black balls. What is the probability of drawing
two balls in succession without replacement so that the first ball 1s white and
the second 1s black?

.*;l.LEq/ff})l'(}bability ‘balls Ll bd 82 -t s K6 siui-4 ufu".‘.? oy

--f,eg a8 ez N lke Syl

1 4
15
2 6
15
(3) 10
15
4) 12
15
Options :
1.1
2. % 2
3.% 3
4, % 4
Communication Ability
SectionId: 78567457
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38

Number of Questions to be attempted : 38



Section Marks : 50

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 785674428
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 151 Question Id : 7856743900 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Part 1: Meanings (sentences with dashes)
Disregard for other people 1s
(1) respect
(2 callousness

(3) 1insult

(4) concern

Options :

4, % 4

Question Number : 152 Question Id : 7856743901 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

Persuade by flattery or coaxing

(1) cajole
(2) caress
(3)  threaten

(4) wam

Options:

Question Number : 153 Question Id : 7856743902 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

One who rules the country by force

(1) democrat
(2)  demagogue
(3)  bureaucrat

(4)  dictator



Options :
1. % 1

2. % 2
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Part 1: Meanings (sentences with dashes)

Kindness or generosify in bestowing gifts or money 1s

(1) largesse
(2)  stinginess
(3) largeness
(4) smallness
Options:
1.1
2. % 2

3. 3

4, % 4
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Part 1: Meanings (sentences with dashes)

To look at something quickly and secretly, especially through a small opening :

(1) spy
(2)  probe

(3)  peep
(4) espy

Options:

1. 8 1
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Is Section Default? : null
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Part 2: Synonyms and Antonyms



The most appropriate synonym of ‘emulate’

(1)  surpass
(2)  mimic
(3) inflate
(4) augment

Options :
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Part 2: Synonyms and Antonyms

The most appropriate synonym of ‘stentorian’

(1) thunderous
(2) pleasing
(3) musical

(4) eratifying

Options :
1.9 1

2. % 2

3.
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4. % 4
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Part 2: Synonyms and Antonyms

The most appropriate antonym of ‘exude’

(1) exclude
(2)  refuse

(3) conceal
(4) display

Options:

1. % 1

Question Number : 159 Question Id : 7856743908 Question Type : MCQ Option Shuffling : No
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Part 2: Synonyms and Antonyms



The most appropriate antonym of word “urbane’

(1)  sophisticated
(2) uncouth

(3) poised

(4) rural

Options :
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:N.A Think Time : N.A Minimum Instruction Time: 0
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Part 2: Synonyms and Antonyms

The most appropnate antonym of the word ‘conducive’

(1)  productive
(2)  competent

(3) adverse

(4)  fruitful
Options:
1. % 1
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Part 3: Verb (Tense & Voice)

By the time the boy entered the classroom, others

(1) leave
(2)  have left
(3)  will have left

(4)  were leaving
Options :

1. % 1

2. % 2
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Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

English 1 many countries in the world.

(1) was speaking
(2) spoken

(3) 1sspoken

(4)  had been spoken

Options :
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Part 3: Verb (Tense & Voice)

The mumster for New Delhi yesterday.

(1) left

(2)  hasleft

(3) Has been left
(4)  had been left



Options :
1.1
2. % 2
3. % 3

4, % 4
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Part 3: Verb (Tense & Voice)

The old man here for many years now.

(1)  had lived
(2) lived
(3) was hiving

(4)  has lived

Options:

1. % 1
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Part 3: Verb (Tense & Voice)

The boy gave a surprise to his father

(Change the voice)

(1)  The father received a surpnse from his boy.

(2)  The father had recerved a surprise.

(3)  The father was given a surprise by the boy.

(4)  The father was bemng given a surprise by the boy.

Options :
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Part 4: Phrasal Verbs & Idioms



I can testify his honesty.

(1) for
(2) to
(3) on

(4) upon

Options :
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Part 4: Phrasal Verbs & Idioms

My grandfather 1s hard hearing.
(1) on
(2 at
(3) of
(4) off
Options :
1. % 1
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Part 4: Phrasal Verbs & Idioms

He jumped the opportunity of gomg abroad.

(1) at

(2 on
(3) for
(4) oft

Options :

1.1
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Part 4: Phrasal Verbs & Idioms



After retirement, he became a couch potato. The underlined 1diom means

(1)  an active person
(2)  ahefty person
(3) aweak person
(4) alazy person

Options :
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Part 4: Phrasal Verbs & Idioms

You have to think big 1f you want to achieve anything. The underlined idiom means

(1)  thmnk too much
(2)  have ambitious plans
(3) think calmly

(4)  consider modest plans

Options :
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Part 5: Articles & Prepositions

Kalidasa 15 Shakespeare of India.
(1) a
(2) the
(3) an
(4) one
Options :
1. % 1
2.9 2
3. % 3
4, % 4
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Part 5: Articles & Prepositions

I saw an old man near bus stop.

(1) a
(2) our
(3) the
(4) an

Options :
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Part 5: Articles & Prepositions

As he did not pay the dues, the electricity has beencut

(1) up
(2) of
(3) out
(4) off
Options :

1. 8 1
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Part 5: Articles & Prepositions

Our company 15 nOw a firm footmg.

(1) 1
(2) on
(3) nto
(4) at

Options:

4, % 4
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Part 5: Articles & Prepositions



Gulliver’s Travels 15 a book children.

(1) for

(2} of

(3) to

(4) upon
Options :
1.9 1
2.8 2
3.# 3
4. % 4
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Part 6: Computer Terminology

We use the rules of encrypted to ex-change files over the mternet.
(1) FTPIP
(2) Hyperlnk
(3) HIML
(4) HTTP

Options :
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Part 6: Computer Terminology

World Wide Web was invented by ;

(1)  Tim Berners-Lee

(2)  Vinton Gray Cerf
(3)  Charles Babbage

(4) Robert Kahn

Options :
1.9 1
2. % 2

3.# 3

Question Number : 178 Question Id : 7856743927 Question Type : MCQ Option Shuffling : No
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Part 6: Computer Terminology

A piece of data that 1s stored within a web-browser and refrieved at a later fime 15 called a

(1) Bug
(2) Cooke
(3) Hyperlink

(4)  Hyperloop

Options:

Question Number : 179 Question Id : 7856743928 Question Type : MCQ Option Shuffling : No
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Part 6: Computer Terminology
DNS 1s the short form of
(1)  Disk Numbering System
(2 Data Number Sequence

(3)  Domain Name System

(4) Digital Network Service

Options:
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Part 6: Computer Terminology

Which one of the following serves as a reference pomt that connects a particular page to other

pages on the web page?

(1) Reference
(2) Web link
(3) Referral code
(4) Hyperlink

Options :

1. % 1

2. % 2

3. % 3

4.4 4
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Question Number : 181 Question Id : 7856743930 Question Type : MCQ Option Shuffling : No
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Part 7: Business Terminology

Making a list of a company’s physical assets 1s known as

(1)  background check
(2) filng
(3) inventory

(4)  credit check

Options :

1. % 1

Question Number : 182 Question Id : 7856743931 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology
A contract that prohibits an employee from switching fo a competing company s called

(1)  mception option.
(2)  business conduct manual.
(3) non-compete agreement.

(4)  paralegal clause.



Options :

1. % 1
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Part 7: Business Terminology

A company’s positive resources are considered as

(1) assets.
(2)  lhabilities.
(3)  contracts.

(4)  working capital

Options :
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Part 7: Business Terminology

The movement of finished goods from production to the customer 1s

(1)  physcal supply
(2)  physical distribution
(3)  supply cham

(4)  conversion cycle

Options :
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Part 7: Business Terminology

Individual ownership s called

(1)  Cooperative society.
(2)  Joint trade agreement.
(3)  Partnership management.

(4)  Sole proprietorship.

Options :

1. 8 1

2.
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Question Numbers : (186 to 190)

Part 8: Comprehension

Freedom and power bring responstbility. The responsibility rests upon this assembly,
a sovereign body representing the sovereign people of India. Before the birth of freedom, we
have endured all the pains of labour and our hearts are heavy with the memory of this sorrow.

That fufure 15 not one of ease of resting but of incessant striving so that we may fulfil
the pledges we have so often taken and the one we shall take today. The service of India means
the service of the nullions who suffer. It means the ending of poverty and 1gnorance and disease
and mequalify of opportumify.

The ambition of the greatest man of our generation has been to wipe every tear from
every eye. That may be beyond us, but as long as there are tears and suffering, so long our work
will not be over.

And so, we have to labour and to work, and work hard, to give reality to our dreams.
Those dreams are for India, but they are also for the world, for all the nations and peoples are
too closely knit together today for anyone of them to imagine that 1t can live apart. ..

To the people of India. whose representatives we are, we make an appeal to join us with
farth and confidence 1n this great adventure. Thus 1s no tune for pretty and destructive criticism,
no time for 1ll-will or blaming others. We have to build the nobble mansion of free India where
all her clildren may dwell.

Sub questions
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Part 8: Comprehension

What 15 the ‘Sovereign body representing the sovereign people of India’ referred to mn the

passage?

(1)  The Parliament of India.

(2)  The Assembly of a state.

(3)  The Constituent Assembly of India
(4)  The Constitution of India.

Options :
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Part 8: Comprehension

According to the speaker, India means

(1)  1its geographical boundaries.
(2)  1ts members of parliament.
(3)  1ts leaders.

(4)  1ts people.



Options :
1. % 1
2. % 2

3. % 3

4. 4
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Part 8: Comprehension

The speaker dreams of better future for

(1) India only
(2)  the countries other than India only.
(3) India and the world.

(4)  the leaders representing India.

Options :

1. % 1

Question Number : 189 Question Id : 7856743939 Question Type : MCQ Option Shuffling : No
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Part 8: Comprehension

The speaker 1s agamst

(1)  crticism of any kind.
(2)  healthy criticism.
(3)  unhealthy crificism.

(4) constructive criticism.

Options :
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Part 8: Comprehension

The tone of the passage 1s

(1)  sorrowful
(2)  1romic.

(3)  1dealistic.

(4)  light-hearted.

Options :



1. 1
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Question Numbers : (191 to 195)

Part 8: Comprehension

The most frightening aspect of malnutrition 15 that it 1s likely to cause permanent
damage to the bram. Expenments carried out on ammals suggest that brain damage due to
malnutnition 1s irreversible. This may not be true of human bemngs. Nevertheless, known facts
as well as results of tests conducted so far pomt to alarmmg conclusions. The human brain
orows very fast. Three months before its birth, the cluld’s brain weighs one-fourth of the adult’s
bram. In one year, the bram of the cluld 1s already 66 percent of the weight of the adult brain.
At four years, the brain weighs 90 per cent and at eight the child’s brain 15 the s1ze of an adult’s
and there is no further increase. Quite obviously, the first four years are crucial for the
development of the brain. And if the child suffers from malnutrition, the damage to the brain
may well be permanent.

Thanks to the systematic research of the National Institute of Nutrition, Hyderabad, we
are able to address at least some aspects of the problem of malnutrition m tlis country. For
instance, it was found that the addition of 10dine m the lake-water salt consumed in the Sub-
Himalayan region would go a long way to controlling goitre. Agam experiments made by the
Institute reveal that mexpensive green leafy vegetables are a good alternative to eggs and butter
as rich source of Vitamin A.

Sub questions
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Part 8: Comprehension

When does the cluld’s brain attain full growth?

(1)  at the age of eighteen.
(2)  at the time of birth itself
(3)  at the age of four.

(4)  at the age of eight.

Options :

4. 4
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Part 8: Comprehension



Which period 1s important for the development of human bramn?

(1)  the first four years
(2) infancy

(3) vouth

(4) old age

Options :

Question Number : 193 Question Id : 7856743944 Question Type : MCQ Option Shuffling : No
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Part 8: Comprehension

The reason for brain damage 1s

(1) anger.

(2)  good nourishment.

(3) lack of proper nourishment.
(4)  junk food.

Options :



¥ 3

Question Number : 194 Question Id : 7856743945 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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Part 8: Comprehension

Which of the following statements 1s true?

(1) Human bram grows continuously throughout life.
(2)  Brain damage due to malnutrition 1s reversible in animals.
(3)  Bran damage due to malnutrition 15 irreversible in animals.

(4)  Gottre can be controlled by avoiding 10dised salt.

Options :

1. % 1

Question Number : 195 Question Id : 7856743946 Question Type : MCQ Option Shuffling : No
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Part 8: Comprehension



“The addition of 10dine in the lake-water salt consumed 1n the sub-Himalayan region would go

a long way to confrolling goitre.

(1)  Takes a long time fo achieve success mn controlling goitre.
(2)  Anmmportant factor in achieving success 15 controlling goitre.

(3)  Travel a long distance 1s controlling goitre.
(4)  Makes 1t quite dafficult to achieve success in controlling gortre.

Options :
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Question Numbers : (196 to 200)

Part 8: Comprehension



The last few years have ushered in a harsh reality where crises are the norm rather than
the exception. Pandenucs, economic slumps and extreme weather events were once tail-end
nisks but all the three have hit South Asia in rapid succession since 2020. This 1s deeply
distressing because the knowledge, skills and health that people accumulate — their human
capital — 15 a cnifical source of the resilience what countries rely on for recovery. Globally,
countries that have systems in place to support individuals and families before a crisis spikes,
can better protect their citizens durmg the crisis. Human development systems must be agile,
restlient and adaptive. Such systems will help countries better respond to future shocks as well.
Crises are unpredictable, and often present rapidly changing circumstances. A well-functioning
system 15 one that can spring info action the moment a shock strikes, ensure essential services
such as health care and learning remain uninterrupted. Since services are provided by different
ndividual sectors, human development systems must be able to coordinate efficiently across
sectors. The road ahead for South Asia 15 rocky. A robust human development system would
not only mufigate the damage but also help ensure lives and livelihoods are protected.

Sub questions

Question Number : 196 Question Id : 7856743948 Question Type : MCQ Option Shuffling : No
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Part 8: Comprehension

In recent tumes South Asia has experienced

(1)  robust growth in human skills.
(2)  unforeseen upheavals.
(3)  surge in human capital.
(4)  growth in healthcare.
Options :
1. & 1

2.9¥ 2

3.# 3
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Part 8: Comprehension

What 1s needed for rapid recovery from a crisis?

(1) human capital
2 political will
(3) econonuc slump

(4) income growth

Options :
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Part 8: Comprehension



Human development systems must be

(1) protective.
(2 dynamuc.
(3) docile.

(4)  crntical

Options :
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Part 8: Comprehension

A functioning system ensures

(1)  passive response.
(2)  frequency of crises.
(3) timely response.

(4) individual mtiative.

Options :
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Part 8: Comprehension

A robust human development system would
(1) 1ncrease the damage
(2 weaken the education sector.

(3)  strengthen the health sector.
(4)  protect the lives and livelithood.

Options :



